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Python

def gcd{u, v}
# we will use Euclid’s algorithm
# for computing the GCD
while v 1= 0

r=u%v # compute remainder
u=yv
V=r
return u
if _name__ == *"__main__*:

a = int{raw_input{ ‘First value: *})
b = int{raw_input( ' Second value: '))
print "gcd: ", gad{a b)

C++

Finclude <liostream =
using namespace std;

Egcd[int u, int v@
/= We will use Euclid's algorithm

for computing the GCD =/

int ¥

while (v 1= 0} {
r=u%v, //compute remainder
U=
¥ =T,

;

9rna-:turn u;

int main( ) {
int 3, b;
cout << "First value: "
cin > a;
cout << "Second value: "
cin == b
cout << "ged: " << ged(a,b) << endl,
return [
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int ged{int u, int v) { intr; while (v!=0) {r=u%v,u=v,v=r } return u; }
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C++ Type | Description Literals Fython analog

bool logical value true bool
false

short integer (often 16 bits)

int integer (often 32 bits) 39

long integer (often 32 or 64 bits) 9L int

— integer (arbitrary-precision) long

float floating-point (often 32 bits) | 3.14f

double floating-point (often 64 bits) | 3.14 float

char single character ta!

string® character sequence "Hello" str
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Semantics

ssizel ) Either form returns the nwmber of characters in string .

slengthi

semptyl Eeturns true if £ is an erpty string, false otherwise

glindex] Beturns the character of string 5 at the given index
(unpredictable when index is out of range).

g.at(index) Beturns the character of string 5 at the given index
(throws exception when index is out of range).

£ == Beturns true if strings 5 and t have same contents, false otbherwise,

gt Beturnz true if 5 iz lexicopraphical less than t, false otherwise,

s.comparet)

Beturns a negabive walue if string = is lexicographical less than string t, zero if
gqual, and a positive value if 5 1= greater than t.

sfind(pattern)
sfind(pattern, pos)

Feturns the least index (greater than or equal to index pos, if given), ot which
pattern begins; returns string:.npos if not found.

srfind{pattern)
s.rfind(pattern, pos)

Fetwrns the grestest index (less than or equalto index pos, if given) at which
pattern begins; rebwns string::npos if not found.

s.find_first_of { charset)
sfind first_of{charset, pos)

Feturns the least index (greater than or equal to index pos, if given) at which
character of the indicated string charset iz found; retwrns string:npos if not found.

s find_last_ofi charset)
s find_last_ofi{ charset, pos)

Fetwns the grestest index (less than or equal to index pos, if given) at which =
character of the indicated string charset iz found; reburns string: npos if not found.

=4+t

Beturns o concatenabion of strings s and t.

s.substr(start)

Beturns the substring from index start through the end.

s.substr(start, num)

Beturns the substring from index start, continuing num charadters.

scstei ]

Beturns a Cstyle charaster array representing the same sequence of characters as =







